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Advanced Algebra

Complex Numbers Review
	1) If a + bi = -10 + 6i, find a and b.
	2) Write the complex number in standard form: 3 + √-16

	3) Write the complex number in standard form: √-75
	4) Write the complex number in standard form: -4i2 + 2i

	5) Write in standard form: 
(8 + √-18) – (4 + 3i√2)
	6) Write in standard form: 
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	7) Write in standard form: (6 – 2i)(2 – 3i)
	8) Simplify and write in standard form:
4i2 – 2i3

	9) Solve by completing the square: 
x2 – 2x – 3 = 0


	10) Use the Quadratic Formula to solve:
x2 + 6x + 10 = 0
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